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3.1

(1)
(H10) 19,399(86.8 )
2,946(13.2 ) 22,325 5 91
( 3 5 )
82
111 (H10/H5)
105
74
10
H5 24,404 36 39 95 9 21 23 16 48 35
H10 22,325 29 28 75 8 20 26 8 31 36
H10/H5 0.91 0.81 0.72 0.79 0.89 0.95 1.13 0.50 0.65 1.03
H5 20,987 32 34 95 9 16 8 16 43 35
H10 19,379 26 17 75 8 18 16 8 31 36
H10/H5 0.92 0.82 0.50 0.79 0.89 1.13 2.00 0.50 0.72 1.03
H5 3,417 8 5 - - 5 15 5

H10 2,946 8 11 - - 2 10

H10/H5 0.86 1.02 2.20 - -l 0.40 0.67
H5 57 91 108 52 19 27 250 110 68 96
H10 66 83 130 50 37 61 209 30 36 111
/7)) H10/H5 1.16 0.91 1.20 0.96 1.95 2.26 0.84 0.27 0.53 1.16
H5 372,376 511 772 | 1,149 239 252 698 179 509 287
H10 | 386,806 435 374 | 1,113 205 267 614 88 460 359
H10/H5 1.04 0.85 0.48 0.97 0.86 1.06 0.88 0.49 0.90 1.25
( ) H5 111,262 207 412 344 27 53 575 69 104 74
H10 | 123,018 162 245 329 12 91 460 27 54 81
H10/H5 1.11 0.78 0.59 0.96 0.44 1.72 0.80 0.39 0.52 1.09
H5 111,639 238 622 258 9 36 628 67 109 172
H10 | 114,735 181 299 225 10 50 547 18 65 231
H10/H5 1.03 0.76 0.48 0.87 1.11 1.39 0.87 0.27 0.60 1.34
H5 60,512 187 412 258 6 36 575 64 87 59
( ) H10 63,785 138 245 228 10 50 460 17 27 65
H10/H5 1.05 0.74 0.59 0.88 1.67 1.39 0.80 0.27 0.31 1.10
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2,000 3,000
3,000
8,000 ( ) 16,000 (
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®3)

124 |100.0 17 23 43 13 18 10
18 | 14.5 4 2 3 )
6| 4.8 - - -
5| 4.0 1 - - 1
124 |100.0 17 23 43 13 18 10
6 1 0 1 0 3 1
130 18 23 44 13 21 11

31% 250 380 36% 69% 53%

20% 23% 200 27% 15% 14%
)

15% 19% 120 13% 14% 11%

14% % o 7% 1% 120

30 21 | 16.7 2 1 9 2

30 89 37 | 29.4 4 3 6 1 5

90 149 28 | 22.2 2 9 5 3

150 199 15 | 11.9 3 4 3 - B 2 -

200 249 19 | 15.1 5 5 - -

250 6| 4.8 2 1 2 4 o -
126 100.0 | 18| 22| 17| 11| 15| 13| 19| 11

4 0 1 0 1 0 0 2 0
130 18| 23| 17| 12| 15| 13| 22| 11
H10 83 130 | 50 37| 61| 200| 35| 111
(GVAD)
H10




(H10) (
66 83 /
( )
10 18 | 14.5 - 5 2 2 - 9
10 24 15 | 12.1 2 - 1 3 1 2 6
25 49 22 | 17.7 3 6 3 - 4 2
50 74 35 | 28.2 3 7 8 5 3 4 1
75 99 26 | 21.0 7 5 0 1 8 1
100 8 6.5 2 5 -
124 1100.0 17 23 17 11 14 13 19 10
6 1 0 0 1 1 0 2 1
130 18 23 17 12 15 13 21 11




3.2

(1)
(48 )
(0 )
( )
(
(33 ) 44 )
77
61 | 48.0 16 19 2 2 6 8 4 4
63 | 49.6 2 4 15 9 7 5 14 7
3| 2.4 - - - 1 - 2 -
127 | 100.0 18 23 17 11 14 13 20 11
3 0 0 0 1 1 0 1 0
130 18 23 17 12 15 13 21 11
54 32.5 30 3 21
15 73 | 44.0 28 24 21
6 10 29 17.5 13 13 3
11 10 6.0 5 3 2
166 | 100.0 76 43 47
0 4 0 0
166 80 43 47
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( )
29 | 23.6 1 4 5 3 4 5 3 4 80 |49.4 23 22 35
24 119.5 1 5 - 3 5 2 5 3 23 114.2 19 3 1
10 | 8.1 - 4 - 2 - 1 3 - 15| 9.3 6 6 3
10 19 15 |12.2 1 3 2 1 - 2 5 8| 4.9 3 4 1
20 29 10 | 8.1 2 2 2 1 - 1 1 5| 3.1 2 3 -
30 49 11 | 8.9 5 1 2 1 - 1 - 8| 4.9 3 2 3
50 74 11 8.9 5 - 2 - - - - 1 0.6 1
75 6 4.9 2 - 2 1 - - - 0 0.0
7 5.7 1 2 1 - - 2 - 1 22 | 13.6 18 2 2
123 |100.0 18 21 16 12 15 13 18 10 162 [100.0 74 43 45
21.2%] 40.7%| 10.1%| 30.5%| 18.7%| 37.8%| 5.7%| 14.7%| 3.8% 12.1%[ 16.2%] 9.1%| 8.2%
5 0 0 1 0 0 0 3 1 8 6 0 2
128 18 21 17 12 15 13 21 11 170 80 43 47
0 )
(10 19 15 )
2 1
a1
L ]43.1
125
20 ] 29.2
8
3 6.9
] 46
‘1 Ta4.4
13
[ 8.3
6 26
[ 33.3
. ] 22
[ 8.3
13
8 9.7
o o
« 6 87 3 72)
A /
4 2 ( )




36 |41.4 7 7 2 1 5 2 9 3 31 |43.1 16 10 5
22 |25.3 4 5 2 2 2 3 3 1 21 129.2 8 8 5
7 8.0 - 2 - 2 1 1 1 5| 6.9 2 1 2
40 |46.0 8 15 1 2 1 8 5 32 |44.4 20 9 3
11 112.6 1 5 1 1 3 6| 8.3 3 2 1
23 126.4 8 3 2 3 2 1 2 2 24 133.3 8 11 5
19 121.8 4 7 4 4 6| 8.3 6
11 112.6 3 - 1 3 2 1 1 7| 9.7 2 2 3
( )] 87 [100.0 13 17 11 9 9 14 7 72 |100.0 40 21 11
12 4 0 0 0 2 1 0 11 11 0 0
99 17 17 11 9 11 12 15 7 83 51 21 11
(FERTETEID
()
30 12
33 )
(21 )
44 ) @8 )
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.0 10.0 20.0 30.0 40.0 50.0
— ‘ ‘
[ 5.8
) ]19.1
L ‘ ]37.8
] 30.3
[ [16.7
]21.3
E ]43.6
10.1
[ ] 16.0
] 32.6
i 4.5
[ ]19.2
] 30.3
11.5 [
o O
: 89 3 156)
MA
71 7.9 2 2 1 1 0 1 9| 5.8 3 1 5
) 17 119.1 3 5 0 4 4 1 59 |37.8 29 7 23
27 [30.3 14 1 4 1 4 3 26 |16.7 12 8 6
19 [21.3 5 3 4 2 3 2 68 |43.6 21 37 10
9 [10.1 2 7 25 [16.0 9 5 11
29 [32.6 3 8 3 4 7 4
4| 4.5 1 0 0 2 0 1 30 |19.2 17 11 2
27 [30.3 8 0 5 5 6 3 18 | 11.5 15 2 1
89 |100.0 22 13 12 15 17 10 | 156 |100.0 77 41 38
10 1 4 0 0 4 1 14 3 9
99 23 17 12 15 21 11 | 170 80 43 47

11




10

(65 )
(42 29 )
0.0 10.0 20.0 30.0 40.0 50.0 60.0 70.0
64.7
1
8.9
14.3‘
2
41.5
10.9
3
8.2
6.1
4
19.5
=
5
2.5
]
6 3 )
( )
( )
77 |64.7 9| 16 | 11 7 8 9| 13 4 46 |28.9 | 22 4| 20
17 |14.3 3 3 2 2 2 3 1 1 66 |41.5 26 28 12
13 /10.9 | 2 1] 2| 2] 1| 1] 4| 13|82 7] 1| 5
8 | 6.7 1 1 3 - 1 31 |19.5 20 4
4| 3.4 2 - - -l 1 41 2.5 2
119 |100.0 | 16 | 22| 15| 12| 15| 13| 16 | 10 | 159 |100.0 | 77 | 37 | 45
11 2 1 2 0 0 0 5 1 10 3 6 1
130 18| 23| 17| 12| 15| 13| 21| 11| 169 80 | 43| 46
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3.3

€
(H14 )
2 2-3 2-4
H13
- ¢ 7 )= ¢ /7 )x « 7/
© 7 ) = 7)) C ) (=
( )€ /h)
(@) = >
o :( > 11.16 /
)=3C /)
@) 8,800 / 33,100 /
22,500 7/ 21
00 7/ 10,300 / 4,700 7/
/
30 4.0
0.61 3.26
0.21 0.53

13



10

/| A 13,217 | 24,500 | 22,500 | 23,700 | 12,520 1,700 1,100 6,500
/| B 11.4 5.0 11.2 18.1 15.7 3.7 1.8 7.7
/| c 22.5 15.0 21.2 33.1 25.7 10.7 8.8 15.7
7 |p=aB| 151,198 | 122,500 | 252,000 | 428,970 | 196,564 6,290 1,980 | 50,050
7 |E=asc| 207,236 | 367,500 | 477,000 | 784,470 | 321,764 | 18,190 9,680 | 102,050

F 0.210 0.407 0.100 0.310 0.057 0.133 0.187 0.038
1 / | c=B*F 2.4 2.0 1.1 5.6 0.9 0.5 0.3 0.3
/| HeCHF 4.7 6.1 2.1 10.3 1.5 1.4 1.6 0.6
7 [1=0+F| 31,764 | 49,858 | 25,200 | 132,981 | 11,204 837 370 1,902
s | 3=e*F| 6,701 | 149,573 | 47,700 | 243,186 | 18,341 2,419 1,810 3,878
// 1,007 606 / 133 72 /
K 0.125 / 0.100 0.116 / 0.048 0.057 /
/ |L=p*k| 18,844 / 25,200 | 49,761 / 302 113 /
/|| ss,08 | / 47,700 | 90,90 [ / 873 52|/
N | 498,700 | / 1,183,510 | 605,797 | / 132,99 | 72,406 | /
0 | 691,467 | / 723,188 [1,975,948 | / 28,008 | 38,634 | /
P=0/N 1.39 0.61 3.26 0.21 0.53
H10 ( )
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H15 90
1 1 ( ) =
10,256 /
4,117 / 7,050 /
11
5 8 18.6 30 63.8 38 42.2
5 12 27.9 15 31.9 27 30.0
1 16 37.2 1 2.1 17 18.9
2 7 16.3 1 2.1 8 8.9
43 100.0 47 100.0 90 100.0
10,256 4,117 7,050
31,000 / 12,000 /
1
10,256 / <34 / =<9.1 31,732 /
o 4,117 / <36 / 8.2 12,153 /
> )< 1
(
)
(
( )







